## RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Approving the Fiscal Year 2014 Gu-Vo District Budget in the Amount of \$2,122,039.09)

**RESOLUTION NO. 13-375** 

1	WHEREAS,	the Gu-Vo District presented to the Tohono O'odham Legislative Council its							
2		budget for the 2014 Fiscal Year; and							
3	WHEREAS,	the Gu-Vo District was allocated Gaming Revenue in the amount of							
4		\$1,144,609.60; and							
5	WHEREAS,	the amount of \$1,144,609.60 from the Tohono O'odham Nation's Gaming							
6		Revenue has been allocated to the four (4) Communities and the Administration							
7		as follows:							
8		Gu-Vo Community \$ 70,000.00							
9		Ali Chugk Community \$ 70,000.00							
10		Pia Oik Community \$ 52,304.80							
11		Kukatch Community \$ 52,304.80							
12		Administration \$900,000.00; and							
13	WHEREAS,	the Gu-Vo District Governing Council, at a meeting held on September 16, 2013							
14		with a quorum present, did review and approve the District FY'2014 Budget in							
15		the total amount of \$2,122,039.09; and							
16	WHEREAS,	the following communities and the Administration have been approved to carry							
17		over funds from previous years into their FY'2014 budget in the amounts as							
18		follow:							
19		1. Gu-Vo Community –							
20		FY'2012 - \$68,832.93							
21		2. Ali Chugk Community –							
22		FY'2012 - \$19,230.63							
23		3. Pia-Oik Community –							
24		FY'2006 - \$9,325.09 FY'2007 - \$323.41							
25		FY'2008 - \$15,858.40 FY'2009 - \$38,785.43							
26		FY'2012 - \$97,667.21							
27		4. Kukatch Community –							
28		FY'2000 - \$26,350.20 FY'2002 - \$25,955.97							
29		FY'2003 - \$12,419.80 FY'2004 - \$1,262.38							
30		FY'2005 - \$11,774.42 FY'2007 - \$6,297.94							
31		FY'2010 - \$10,529.86							
32		5. Administration -							
33		FY'1999 - \$427,904.75 FY'2000 - \$204,910.56; and							
34	WHEREAS,	the total budget amount for the Administration and each of the four (4)							
35		communities, as part of the FY'2014 budget, is as follows:							

	RESOLUTION (Approving the Page 2 of 4		rict Budg	et in the amount of \$2,122,039.09)
1		1. Gu-Vo Community	\$ 138,	832.93
2		2. Ali Chugk Community	\$ 89,	230.63
3		3. Pia-Oik Community	\$ 214,	264.85
4		4. Kukatch Community	\$ 146,	895.37
5		5. Administration	<u>\$1,532,</u>	815.31
6		Totaling	\$2,122,	039.09; and
7	WHEREAS,	the combined FY'2014 (	Gu-Vo D	istrict's Administration and the four (4)
8		Communities' Budget total	ls in the a	mount of \$2,122,039.09; and
9	WHEREAS,	the proposed budgets we	ere subr	nitted to the Tohono O'odham Legislative
10		Council Budget & Finance	Commit	tee for recommendation and approval of the
11		Fiscal Year 2014 Gu-Vo Dist	trict Bud	get.
12	NOW, THERI	EFORE, BE IT RESOLVED th	at the T	ohono Oʻodham Legislative Council hereby
13		approves the Fiscal Year 2	2014 Gu-	Vo District Budget submitted by the four (4)
14		communities and the Admi	inistratio	on in the amount of \$2,122,039.09.
15	BE IT FURTH	ER RESOLVED that the Toho	no O'odl	nam Legislative Council has approved for the
16		following funds, to be carr	ied over	and included into the FY'2014 Budget for the
17		four (4) Communities and t	he Admi	nistration:
18		1. Gu-Vo Community	:	68,832.93
19		2. Ali Chugk Community	!	5 19,230.63
20		3. Pia-Oik Community	•	\$161,959.54
21		4. Kukatch Community		5 94,590.57
22		5. Administration	9	6632,815.31
23		Totaling		S977, <del>4</del> 28.98
24	BE IT FURTH	ER RESOLVED that the total i	or the Fi	scal Year 2014 Gu-Vo District Budget for each
25		of the following communiti	es and tl	e Administration are as follows:
26		1. Gu-Vo Community	\$	5 138,832.93
27		2. Ali Chugk Community	\$	89,230.63
28		3. Pia-Oik Community	\$	214,264.85
29		4. Kukatch Community	5	146,895.37
30		5. Administration	\$	1,532,815.31
31		Totaling	\$	2,122,039.09
32	BE IT FINALL	Y RESOLVED that the Tohon	o O'odha	m Legislative Council hereby authorizes the
33		Chairperson and any design	nated off	icial to expend and administer the budget as
34		attached, provided that an	y amend	ments affecting the funds or funding levels
35		shall be approved by the To	hono Oʻc	dham Legislative Council.

RESOLUTION NO. 13-375

1

(Approving the Fiscal Year 2014 Gu-Vo District Budget in the amount of \$2,122,039.09) Page 3 of 4

The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the  $19^{\mathrm{TH}}$ day of SEPTEMBER, 2013 at a meeting at which a quorum was present with a vote of 2,946.5

3	FOR; <u>-0-</u> AGAINST; <u>-0-</u> NOT VOTING; and <u>[03</u>	ABSENT, pursuant to the powers vested in the
4		f the Constitution of the Tohono O'odham Nation,
5		I January 18, 1986; and approved by the Acting
6		perations) on March 6, 1986, pursuant to Section
7		
8		
9	9	
10		HONO <sub>2</sub> O'ODHAM LEGISLATIVE COUNCIL
11		·
12	2   M	1111/11/11/11/11
13	3   / <b></b>	Mucay Al Im
14 15	1   / <b>/</b> /in	nothy Joaquin, Legislative Chairman
15	5   V K	A Jan h
16	5 <b> </b>	day of
17	7	<b>4</b>
18	ATTEST:	•
19		
21	Evonne Wilson, Legislative Secretary	
22		
23	day of <u>Syplen/M1</u> , 2013	
24	1   5   7   7   7	
20 21 22 23 24 25 26	Said Resolution was submitted for approva	to the office of the Chairman of the Tohono
26	O'odham Nation on the day of//	tlyhu , 2013 at <u>4:/6</u> o'clock, f .m.,
27	pursuant to the provisions of Section 5 of	Article VII of the Constitution and will become
28	effective upon his approval or upon his faile	are to either approve or disapprove it within 48
29	hours of submittal.	
30	)	
31	. <b> </b>	HONO, O'ODNAM LEGISLATIVE COUNCIL
32		· [4]
32 33 34 35	IX	MILITURY WOOTERS
34	;                   //·	mac / No 1 700 C
35	7 <b>7in</b>	othy Joaquin, Legislative Chairman
36		37 9/1 3
37	7	V
38		
39		4
10		22 / / /
<b>‡</b> 1	on t	the day of the , 2013
12		
13	[ ] DISAPPROVED at	S: 430'clock, .m.
14		<u> </u>
15		$\Delta M_{\star} M_{\star} = \Delta M_{\star} M_{\star} M_{\star}$
16	; <b> </b>	1/ XL 1/ 12/1
11 12 13 14 15 16	NET	NORRIS, IR., CHAIRMAN
18		HONO O'ODHAM NATION
	· 1	TOTO O VAPARAME IMPLEMENT

49 50

RESOLUTION NO. 13-375

ACTION: APPROVING THE FISCAL YEAR 2014 GU-VO DISTRICT BUDGET IN THE AMOUNT OF \$2,122,039.09

MOVED: COUNCILWOMAN GRACE MANUEL SECOND: COUNCILWOMAN SANDRA ORTEGA

DATE: SEPTEMBER 19, 2013

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSEN'
SIF OIDAK	1. LUCINDA ALLEN (Nicholas Jose)	112.1	X			
224.2	2. MARY LOPEZ ( )	112.1	X			
SELLS 502.0	1. ARTHUR WILSON (Kimberly Mull)	251.0	Х			
302.0	2. BARBARA HAVIER	251.0	X			
SCHUK TOAK 174.2	1. FRANCES B. STEPHENS (Anthony J. Rios)	87.1	X			
1/4.2	2. QUINTIN C. LOPEZ (John Fendenheim)	87.1	X			
SAN XAVIER	1. HILARION CAMPUS	112.1	Х			X
224.2	2. ADAM ANDREWS (Rachel Vilson-Stoner)	112.1	x			
SAN LUCY	1. DIANA MANUEL	109.8	X			
219.6	(Gloria Ramirez) 2. JANA MONTANA ( )	109.8	x			
PISINEMO	1. CHESTER ANTONE (Tony Murrietta)	105.3	Х			X
210.6	2. EDWARD MANUEL, SR.	105.3	x			
HICKIWAN 196.9	1. LOUIS R. LOPEZ (Michelle Ortega)	98.45	Х			- 1
	2. SANDRA ORTEGÁ (Manuel Osequeda, Jr.)	98.45	X			
HIA CED 19.6	1. LORRAINE EILER (Jolene Garcia)	9.8	×			
	2. MICHAEL FLORES ( )	9.8	X			
GU VO 241.0	1. GRACE MANUEL (Floyd Flores)	120.5	X			
241.0	2. PAMELA ANGHILL (Jeffery Antone, Sr.)	120.5	X			X
GU ACHI	1. TIMOTHY L. JOAQUIN	128.65	Х			
257.3	2. LORETTA LEWIS (Louis Johnson)	128.65	x			
CHUKUT KUK	1. ETHEL GARCIA (Marlakay C. Henry)	159.6	X			
319.2	2. BILLMAN LOPEZ ( )	159.6	x			
BABOQUIVARI	FRANCES MIGUEL     (Roberta Harvey)	178.85	X			
357.7	2. VERNON J. SMITH (Gloria Zazueta)	178.85	X			
	TOTAL	2,946.5	2,946.5	-0-	-0-	[03]